
Initial Code Saturne programm (5 sec simulation)
Input : undeformed_bassin.med

Output : undeformed_bassin.med (5sec)
  mafluide.med (pressure field for Code ASTER)
  main.csc

              auxilliary.csc

 Code Aster programm

Output : deformed_bassin.med 

 Code Saturne preprocess
Input : deformed_bassin.med

Output : mesh-input.csm

 Last Code Saturne programm (restart mode) (0.01sec)

Input : deformed_bassin.med

Checkpoint (mesh-input.csm
         main.csc

                    auxilliary.csc)

Output :  deformed_bassin.med (5,01sec )
  mafluide.med (pressure field for Code ASTER)

What mesh should i use for the 
restart programm :
undeformed or deformed one ?


